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PART - I
CeudluSuwier/ CHEMISTRY

(WO wpmib e eyl / Tamil & English Version )

ST eTey : 3.00 wenfl Cr | | - [ Qurgs wALLuSETSET : 70
Time Allowed : 3.00 Hours ] [Maximum Marks : 70

SAPleysorsst : (1)  omansg efamssEn sflwurst Uaurd o erersr erenLigamen sflurisgis
Qsmerenayib. @FsILHND GapulEuder, vamps samaraiiiurarfiib
2 L aliquingsd Ggflelsseaib.
2 feob ez smUY mwvlama LLECWL aWHWSHED
S&CaTLHausHGL LW Hss CuamBb. ULRSH euorausns
Queéléd LweTUHSSeLD.

Instructions : (1) Check the question paper for fairness of printing, If there is any lack of fairness,
inform the Hall Supervisor immediately.
(2)  UseBlue or Black ink to write and underline and pencil to draw diagrams.

GBIy : Caercuwran QL A6 Li1b cuedrpHs, FLOHUT(HSEEET 6T(LPSE|LD.

Note : Draw diagrams and write equations wherever necessary.

@S - 1/ PART - I
GOILY : () Sievensg dlemmsaEns@n elanwellssa)b. 15x1=15
(i) Car@saiul@erer e wrhm oLsalld Wsab ghysLw
dlewLeaws Casipls®ss GMUELGLa eNenL@enaryid Garg g
TPBHLD.
Note : (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write
the option code and corresponding answer,

[ Hwuys / Tum over
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H,0, flegaumiLpg O, -®adh HHid Mean@eéd G GHni Crrsfle
AOL$HD@ 48 g O; e meurtannad bl Cprgha filer o meaurgd Geus :

(<) 2.25 mol min~1 (e8p,) 0.75 mol min !

(@) 3.0 mol min~! (rr) 1.5 mol min~!

During the decomposition of H,0, to give dioxygen, 48 g O, i8 formed per minute at certain

point of time. The rate of formation of walter at this point is :

(a) 225 mol min~1 (b)  0.75 mol min~1

(¢) 3.0 mol min~! (d) 1.5 mol min~!

1 Coréd QuriLrdwb eLgCrmGul e QurtLrflub 2 CurenL_(HLear
Seeur® QaefiCupmib CGuTger Gordasefer araraflsms ?

(=) 3 ()1 () 4 (FF) 2
How many moles of 1, are liberated when 1 mole of potassium dichromate react with potassium

iodide ?

(@ 3 ® 1 (c) 4 @ 2

Quigeurs, @ULT Fewwed LrSArngetlen Cupuri9e veuly Lslul Berarg.
Sips Louiguler @heplilly (PR5eED) /

(1) ECemGrrrgden

(=) mECgem

(@) 1,1,22-QLL gy CrrrgGaen

(rF) qgu—z—rrmmgbl'_mo'sb

Non-stick cookwares generally have a coating of a polymer, whose monomer is :

¢

(a) chloroethene
(b) ethane
(c) 1,1,2,2-tetrafluoroethane

(d) prop-2-enenitrile
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eopLre ofloggier eleaufibg wesadr fp aanCemis Gurean Brwopengs
smeug

() N-Qugda oaflcien (e2p) enpl G Quenfen

() NN-@oLQuihé wafddar () .oafeden

The compound that reacts with nitrous acid to give yellow oily liquid is

(a) N-methylaniline (b) Nitro benzene

(¢)  N,N-dimethyl aniline (d)  Aniline

Curfis el em @ndawrsEn. ghaeaia DIGHE PPFFa)

(@) YermiLreuLen @eenpgl Bi epossmaans smans.

(=) @UUQuUWIFN LD gateruew H wuweflaius Q& reRT(HeTarg.
(®) B epevssadledmpbs OH™ eweienw TPms deras® yGrmiLreaears smans.
() yGrriLreens srauces.

Boric acid is an acid because its molecule :

(@) combines with proton to form water molecuie.

(b) contains replaceable H* ion.

(c) accepts OH™ from water, releasing proton.

|

(d) gives up a proton.

Bleryagdéd maussiiul_Gearar @@ ampoiome mwibad 2 drer SI&THET
erdlinflenapenenanis Coréd) pamdlamar oG8 smiplodsmyaea afge flspairarg
(1) K350, (i) NayPO,, (iii) K,[Fe(CN)¢] wpmid (iv) NaCl fwieupenms Qarer@®
ey Celwiu@dems). sicupher efpugearghd Her

(1) (iid) > (if) > (i) > (iv) (<) () > (if) > (iii) > (iv)

(@) @) > () > (v) > (i) (%) @aupfle ergiaddma

In an electrical field, the particles of a Colloidal system move towards cathode. The
coagulation of the same sol is studied using (i) K,SO,, (ii) NayPO,, (iii) K,[Fe(CN),] and
(iv) NaCl. Their coagulating power should be :

(@) (iid) > (i) > (i) > (iv) (b) (i) > (ii) > (iii) > (iv)

(€) (i) > (i) > (iv) > (iii) (d) None of these

[ Hmiiys / Turn over
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SapD @Carrfler eumueald &miiqgd oL efler Genemiy Geray
‘:?ismmd) t&uﬂff)lb. .
STTESTD ; @Garnflamang), osLepflleads ariggib iHs cravdLymen elless

Mensulienen QuipmieTeng,.

(<) Dy oM @D SMTEWID Houg).

(<) Sapp1 wpmitd SrrewTd @yt s, Gogib SnrewIoneTg] sapBIDE &l
ellen&&EnmELD.

(®) s=pp wHpbd strewId @ran@®b Heug.

(F) &apml wppibd styewnd QrarHid &, g eire &NyewTOnaTg] saDHIDES
deré&sina.

Assertion : Bond dissociation energy of Fluorine is greater than Chlorine gas.

Reason : Chlorine has more electronic repulsion than Fluorine.

(a) Assertion is true but Reason is false.

(b) Both Assertion and Reason are true and Reason is the correct explanation of Assertion.

(c) Both Assertion and Reason are false.

(d) Both Assertion and Reason are true but Reason is not the correct explanation of
Assertion.

wimest

silwmren

col@BenyL aulgeuamblieul QuimETar SrofHWD oLjEharig.e Sremiiu Wb
Ca?* wpmib F~ Sjweallsafilen siamaney cranger peanpGui :

(<) 8 wppb 4 ()4 whppis 2 (@) 4whpidb 8 (%) 6 wpd 6

In calcium fluoride, having the flurite structure, the coordination number of Ca?* jon and
F~ ionare: )

(@ 8and4 (b) 4and?2 (c) 4and8 (d) 6and 6

yrssHen @uermLmb Hlenes SepoLiLreng) rangs GO&EaTng ?
(=) a-8Cair Sjflemiseflan auflens

(<=1) uredQuiienL B apgids@Iblle Hlaowrear assiemoliL]
() a-s@meT pgitlegibl

() BiQeums@n GerLuiGaer

The secondary structure of a protein refers to

(@) sequence of a-amino acids

(b) fixed configuration of the polypeptide backbone

(c) a-helical backbone

(d) hydrophobic interaction


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

10.

11.

12.

13.

5 8322
e wonwafi Qumds wrfladl K, -@en iy 25°C Qeuduflenawuiids 1.00 1014
eraflé, 40°C Qarsufleaufe ger ooy .
(@) 1.00x10° 1 (et,) 1.14% 10~ 15
(®) 271x10- 1 () 2.95%10-13
AL 25°C, jonic product constant K, of water is 1.00% 10~ 1, ts value at 40°C is
{a) 1.00x10-M () 1.14x10-15

(©) 271x10-14 (d) 2.95x10-15

[PHNO,)(H,0)(NH,),]Br erép ienanmailed enow o.CGors sjwaflublen s8mGamn
CTERT Granen ?

(1) +4 (<2p) +2 () +6 (/) +3

What is the oxidation number of the central metal ion in the complex,
[PY{NO,)(H,0)(NH;),]Br ?

(a) +4 by +2 (c) +6 (d +3

Glorgsors 9650 sagbsar Weg L Samns CummieTer eTes_Freansetlen crammeanilEans :
(<34) 6.022%x 102 (=) 6.22x 1023 (@) 6.022x1073  (fF) 6.022x10%
The number of electrons that have a total charge of 9650 coulombs is :

(a) 6.022x10%22 (b) 6.22x103 () 6.022x1073% (d) 6.022x10*

Wenaumeuareudmiar ergy auadlenn &S dled ?

(=) 4-empl ComSenmed (<24) 2-enpL_CrmSenmed
(@) 3-eom CymSenmed () 4-@CarnGrmIemed
Which one of the following is the Strongest acid ?

(a) 4-nitrophenol (b)  2-nitrophenol

(c)  3-nitrophenol (d) 4-chlorophenol

[ ®riys / Tum over
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14, CHaBe KN (A o, (B) -5, ()
ailememia @Quinima (C) everug,) .
() @GernGrr o igd sibeoth
(=) c-@GernCon sawGann ergmenmufls copden
(@) efllad @Ganrar®
() @eupha gl

CHaBr —XN (o) 1O,y PG,y
Product (C) is:

(a) chloro acetic acid

() a<chlorocyano ethanoic acid

(c) acetylchloride

(d) none of these

15. foai wppbd shsd INF0sOEsH epwurarg sumamLs QsTan( &(pal5eD
o arerL&SHwig. @aperpuller Qereni féeui Warl Qupliu@ged :
(=) ZBspISSHLa 2 Cars @LUCQuurss) eilener
(<) aumrere auHHe
(8) prowrése
(/) Yo FNLMWLWTESE
Extraction of gold and silver involves leaching with cyanide ion. Silver is later recovered by :
(a) Displacement with Zinc l
(b) Distillation
(c) Liquation
(d) Zone refining

u@$ - 11/ PART - 11
GO : amaluaib 2un amésEpsd o wailssa)b. dar arar 24 -&5@
sU__muons edlenLwefl&asa)b, 6x2=12
Note : Answer any six questions. Question No. 24 is compulsory.

16. caams grgsamer SLilbés por Bsoy pop gops ? sssosw

BrEEsEREEG @f TOEHESTID S
Which type of ores can be concentrated by froth floatation method ? Give an example for ores.

17. PCl; -gg Qauuiu®ggib Gurg Blapeug wng ?
What happens when PClg is heated ?
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ArGsraflwib whob apriiefwid @HBHL LT EeneT QubmieTaTar. erew ?
Why do Zirconium and Hafnium exhibit similar properties ?

seorgpen QuUmESD — UTWIMIESHA|LD.
Define Solubility Product.

'FOMEN SLEHSEDPST — cueypIGse,Lb.
Define Equivalent Conductance.

SPUR M SIS SorFRrs LIHNUIGHETS S Ppwnssd Cordslu®mns.
Qésmpen TOSHEHT_ L6 edland 3.

Peptising agent is added to convert precipitate into colloidal solution. Explain this statement
with an example. *

STLLTOTET - 8nd eflepaionis er(Wsis.
Write Gattermann - Koch reaction.

BHFIL QUGS ereueury cuasiILRSsULRHemer ?
How are drugs classified ?

Yeraumid eflenarseafier eflenar efleneris GlLumHL g6 X wHmd Y -enwié SRTL_H&.

OH 7n

= X

NH;, A
Broo
ZI\CIZ

Find the products X and Y in the following reactions.
OH 7n

—a X

NH;3, A
Y
anhydrous

ZnClZ

[ Spliys / Turn over
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LuEd - 111/ PART « 111
@Piuy : amaCugib sy eileninerse ol wafisanh. detr arer 33 )
sL L munns eflentwefldao b, BXI=38

Note @ Answer any six questions, Question No. 33 is compulsory.

25.  flasaed gniemoundsi uwetu @b G apenpuilenet efleufl&san.

Describe a method for refining Nickel.

26, EBHSS @S dmsgd Qal@hk@w uaTGmean uphl Hp GHluL sumTs.

Write short notes on bleaching action of Sulphur dioxide.

27. KCrpp wrhHluikisd DT Tenat ? G L BHTyeRTHa)L- 6t elena &s.
What are hydrate isomers ? Explain with an cxample.

28. prenapdl wpmd eraapdl CQeupdlLhisemar CaumtiBEEs.
Distinguish tetrahedral and octahedral voids.

29. SlGyercellE urly sauisd sulalug GamlydHarer L& wranal ?
What are the limitations of Freundlich adsorption isotherm ?
{

30. Neeumb Hmarasficmsude 2 aer A, B oppib C ydlw Camnorismer sam_Ha.

=

Sn/HCI , NaNO,+HCI
HsNO > A >
CeHNO, 273 K

CuCN

@]

Identify compounds A, B and C in the following sequence of reaction. .

0, +HCl
CHsNO, —Sn/HCAL, , NaN L B

CuCN

C
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31. GDISS LU eTemne eraner 7 Qe TOHHIBET_DHET Hm.
What is Condensation Polymer ? Give two examples.
32. eflemisaid NiAGsaiien gGagb e Qrwaur@sear GHUGHs.
Mention any three functions of lipids in living organism. B
3. 80 PED s eflwanfien eflmaGais wihle 1.54x10-3 s~ 1. ipdr sy Qump
sTOdHeer s, -
The rate constant for a first order reaction is 1.54x10-3 s~1, Calculate its half life time.
u@S - IV / PART - IV
GOILY : Siemensgi ellemréaEnaEn eflen wallssayLb. 5x5=25

Note : Answer all the questions.

34.

(o) () Yereumb Qewawpapsaid QsmGdstiu Betareubiler LweLIT g e
Meuf&s.

1) giaflub 9N505HE5s5800 HarCurenal_ | "
(2) &ArGaraflwgden Banimwursseie Gy er
(i) Caneger @ Caivmsaiar gCsRID Apan LIS S®ETES Samis.
B ) : ) S e
(=) () CurGrl 2 mienu erebaunm semdleumis ?
(i) Cumyraen -6 LILRSMETS SH(HS.
(@) (i) Describe the role of the folloWing in the process mentioned.
(1) Cryolite in the extraction of Aluminium.
(2) Iodine in the refining of Zirconium.
(i) State any three properties of inter halogen compounds.
OR
() (i) How will you identify borate radical ?

(i) Give the uses of Borax.

[ ®Liys / Turn over


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

8322

38.

36.

37.

10

(«m) @Qumiin&lund eL@CrrGiol. gunfigpaa oilarisms.
DI
(<)) Qeufrert Qundrenaulien Gamiun®amerd onps,
(n)  Describe the preparation of potassium dichromate,
OR

(b)  Write the postulates of Wemner’s theory.

(@) () e Corsb Hsupatar Gapurigeear g o (55T Lem HensEs.

() Guned wad s e G rBEgIssTL. DL shlarsEs.
3|06V G|

(<24) 0.1 M CH,COOH seysdler pH wiliou sarésfps. oifllys sbaser
Gfens wred wHiy 1.8x1073,

{a) (i) Write a short note on metal excess defect with an example.
() Explain Pseudo first order reaction with an example.

OR

(b) Calculate the pH of 0.1 M CH;COOH sclution. Dissociation constant of acetic acid
is 1.8 x 1075,

(21) Opfreravl. sweruTl el g &5l
2{6V608
(=) Epsaim mHnhseer creuairn Hlepsgeumu ?
() TEH sdsanTD — FHSE
(i) ergHeSen Hevandbared — 14-evLsECa6
(i) Hefagmed — BaCrmedlen
(a) Derive an expression for Nernst equation.
OR
(b) How will you convert ‘
(i)  Ethyl alcohol — Ethene
(i) Ethylene glycol — 14-dioxane

(iii) Glycerol — Acrolein
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38. (&) GHO erénp pedanp auminin® Qarei aflnd Gamotb (A) ayeng srenaflsGyr
eflen e s (s, Lu@Aenpg. Gafohd (A) wapargl, ot FeCl, apsmeflenaudd
GGarflen o _en cilenen Mg Gamo (B) -enwg pmApg. Gugyn Gsfruoid
(A) 2peng), elevarGeus wnp @everng Qurapg @Garmflen wi_en chlenanLyflig
Gaiiwb (C) “owg smApg. A, Buoppid C apfluepenn sdanc s sops
eﬂmm&mm,&, S,

SIV6V G|
(<) () CH;NO, -@er eoplGrr wppd 2f  euigeuriseman 6T 6U Eu I I
Caupusgieumis ?
() Qseeller srermiiu@d RNA -6fen cuanssdr wrenas 2
(@)  An organic compound (A) of molecular formula C,HO undergoes Cannizaro reaction.
Compound (A) also reacts with Chlorine in the presence of Conc.FeCl, to give

Compound (B). Compound (A) reacts with Chlorine in the absence of catalyst to give
Compound (C). Identify A, B and C with suitable reactons.

OR
(®) () How will you distinguish between nitro and aci form of CH,;NO, ?
(i) What are the types of RNA which are found in cell ?

-00o0-
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